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Our	
  test	
  setup:	
  
	
  
We	
  measure	
  the	
  voltage	
  V	
  across	
  the	
  8.2	
  MΩ	
  resistor:	
  
	
  

	
  V	
  =	
  
	
  

1	
  kV	
  *	
  8.2	
  MΩ	
  
(RV	
  +	
  8.2	
  MΩ)	
  

	
  

Now:	
  8.2	
  MΩ	
  	
  	
   •  Voltage	
  is	
  larger	
  =	
  
measurable	
  
	
  

•  We	
  solder	
  varistors	
  in	
  
(beSer	
  contact)	
  
	
  

•  We	
  measure	
  in	
  warm	
  
temp	
  (no	
  cooling	
  Tme)	
  
	
  

•  We	
  measure	
  one	
  at	
  a	
  
Tme	
  (because	
  the	
  4	
  varistors	
  in	
  
the	
  setup	
  share	
  HV	
  and	
  ground,	
  
and	
  can	
  not	
  be	
  measured	
  
independently	
  if	
  together)	
  



We	
  tested	
  12	
  varistors	
  yesterday	
  

Expected	
  to	
  go	
  up	
  
factor	
  10	
  –	
  20	
  for	
  
cold!	
   Min.	
  R	
  for	
  1%	
  

change	
  in	
  field	
  
cage	
  E-­‐field	
  
3	
  varistors	
  

Min.	
  R	
  for	
  1%	
  
change	
  in	
  field	
  
cage	
  E-­‐field	
  
1	
  varistor	
  


